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4322
ML.A. (Previous) Examination, 2017

ECONOMICS
Paper-1I1
(Macro Economics Analysis)

Time : Three Hours
Maximum Marks : 100

PART - A (@vUs-31) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
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PART - B (@vz-7) [Marks : 50

Answer five questions (250 words each).
Selecting one from each unit, All questions carry equal marks,
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PART - C (@uz-w) [Marks : 30
Answer any fwo questions (300 words each).
All questions carry equal marks,
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PART - A
{ETEg-37)

1. Write short notes on following :

e wv wifere frauit fefay
UNIT -1
(zFTE-1)

(i) Flow of fund accounts,
=] 5 wams @ o
(ii ) Input-output accounting,

wrd - T )

UNIT - 11
(Z=HE-11)

(iii ) Ratchet effect.
T AT |
(iv ) Difterence between shortrun and long run consumption

function.
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UNIT - ]
(SHTE-111)
(v ) Financial intermediation.
Y g |

(vi) Liquidity trap.

LT STet |
UNIT - 1V
(F&TE-1V )

(vii } Real balance effect.
TFEAgE T Y |

(viii ) Schumpeter theory of business cvele.

YT & 9 T g |
UNIT - v
(TFEE-V )

(ix ) Natural raie of unemployvment.

ERERIEA R A Re Al

4322/1520 3 PLO.



(x )  Short run and longrun phillips curve analy sis.

IR TS ZHRTETR TRl o favemo )

PART - B
(@vg-9)
UNIT -1

(3=TE-1)

2. What do you mean by balance of payment accounts ? Discuss
the itemns included in the composition of these accounts. 3+7
T Wger S § o o qee €2 v st v
AT ifaTd |

3. Explain the circular flow of income in four sectoral economy.

- SH SR & ST 379 F S WETe F g9 FisE |
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UNIT - II

(3FTE-11)
4. Define marginal efficiency of capital. Explain the factors
affecting marginal efticiency of capital. 146
S T HA & W ST F q9E § 7 G @) I s
o1 FITad S aTel awl o Fo Fifed |
5. Explain the accelerator theory of investment.

999 & s Tegre =1 = Fifed
UNIT - I1

( geRTE-11T )

6. Explain the cambridge cash balance approach of quantity
theory of money. How does it superior from Fisher's

transaction approach. 545

Hel Ui fOgTa % 2 sl 3 e 9 fagrs = s
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10.

Explain the extention of IS-LM moedel with government secior

IS-LM F=Z% 1 58371 975 ¥ fa77 =7 o CAERY
UNIT - 1V

(ZTwE-1V)

Explain the Friedman's reformulated quantity theory of money.

HERT B Hiaued qal F T7 AT G H oI
Hifsd |

Explain the Hicks theory of business cycle.

UNIT -V

(3oTE-V)
Expiain the difference between Keynesian and monetarist
approaches to inflation.
fhrar] wd qer At sdenferdl § qErewity o wfq gfem o
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1. Explain the Mundetl-Iieming model to show the policy mix

adjustment.

TS g wize F a Aiad & e wedse w1 5o

=TT |
PART - C
(@vg-9)
UNIT -1

(3FTE-1)
12. What do vou mean by social accounting ? How is it prepared.

5+10
@7
UNIT - 1T
(3T3-11)
13. Lxplain the permanent income hypothesis of consumption.

How it is superior to Keynes theory of consumption.  10+5
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UNIT - III
(FHTE-1I1)
14. Explain the relative effectiveness of monetary and fiscal
policies with [S-LM model.
it W& T it = wrie w9 1S.LM e
& BRI HHEIE |
UNIT - IV
(FFE-1V )
15.ExMMnmeSmmmbonnmddofnmkcyd&
mmmmnﬁﬁmﬁwﬁﬁﬂl
UNIT - v
(3%E-V)
16. Expkﬁntheraﬁonalexpemadontheon&
P seamen fagra = foder 70
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